
Gyakorló feladatok 

Hatásvázlatok átalakítása 

 

 

 y3/u1 = w0/(1+w0) y3/u2 = w2w3/(1+w0) y2/u1 = w1w2/(1+w0) uh/u3 = - w3/(1+w0) 

 

Átviteli függvény: 

1. 

𝑤 𝑠 =
1

 𝑠 + 1 
 

Mekkora a fenti rendszer a[dB]() erősítése és () fázistolása  = 1 rad/s körfrekvencián? 

𝑎𝑏𝑠 𝑤 𝑗𝜔  = ?         

 𝑎𝑟𝑐 𝑤 𝑗𝜔  = ? 

s = jhelyettesítéssel: 

 𝑤 𝑗𝜔   
  𝜔=1 =

1

 𝑗 + 1 
=

1

 𝑗 + 1 

 1 − 𝑗 

 1 − 𝑗 
=

1 − 𝑗

12 + 12
= 0,5 − 𝑗0,5 

𝑎𝑏𝑠 0,5 − 𝑗0,5 = 0,7071 

a[dB]() = 20 lg(0,7071) = -3dB 

𝑎𝑟𝑐 0,5 − 𝑗0,5 = −45° 

 

 

 

 

 

 

Im 

Re 
0,5 

-0,5 

-45° 



2.  

  

𝑤 𝑠 =
𝑠

 𝑠 + 1 
 

Mekkora a fenti rendszer a[dB]() erősítése és () fázistolása  = 2 rad/s körfrekvencián? 

 𝑤 𝑗𝜔   
  𝜔=2 =

2𝑗

 2𝑗 + 1 
=

2𝑗

 2𝑗 + 1 

 1 − 2𝑗 

 1 − 2𝑗 
=

2𝑗 + 4

22 + 12
= 0,8 + 𝑗0,4 

𝑎𝑏𝑠 0,8 + 𝑗0,4 = 0,8944 

a[dB]() = 20 lg(0, 8944) = -0,97dB 

𝑎𝑟𝑐 0,8 + 𝑗0,4 = 26,56° 

 

 

 

 

Bode diagram 

1. 𝑤 𝑠 =
10

𝑠
=

1

𝑇𝑠
=

1

0,1𝑠
          𝑇 = 0,1  

 
   𝜔 = 10 
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2. 𝑤 𝑠 = 0,2𝑠          𝜏 = 0,2  
 
   𝜔 = 5 

 
 
 

3. 𝑤 𝑠 =
1

𝑠(𝑠+1)
=

1

𝑠𝑇1
∙

1

(𝑠𝑇2+1)
                  𝑇1 = 𝑇2 = 1 
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4. 𝑤 𝑠 =
𝑠

𝑠+10
=

0,1𝑠

0,1𝑠+1
       𝜏 = 𝑇 = 1 

 

5. 𝑤 𝑠 =
1

 𝑠+2 2 =
0,25

 0,5𝑠+1 (0,5𝑠+1)
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6. 𝑤 𝑠 =
1

 𝑠+1 (𝑠+10)
=

0,1

 𝑠+1 (0,1𝑠+1)
 

 

7. 𝑤 𝑠 =
 𝑠+1 

 𝑠+5 (𝑠+20)
=

1

100
∙

 𝑠+1 

 0,2𝑠+1 (0,05𝑠+1)
        𝜏 = 1       𝑇1 = 0,2     𝑇2 = 0,05     
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